
Multiple Arrestee Segments Indicator  
 

     This information ensures that an arrestee is counted only once when a single apprehension 
results in clearing more than one Incident report for your jurisdiction.  The arrestee data is 
duplicated in each of the previous Incident reports.   
      
     In such situations, C = Count is to be entered for the current arrestee and M = Multiple is to be 
entered in the previous Incident reports.   
     Example:  After a suspect’s apprehension for robbery, it was learned that he was also responsible 
for 5 previous robberies within your jurisdiction.  Arrestee data should be entered for the current 
arrest with a C = Count.  M = Multiple should be entered for the previous 5 robberies.  
 
     If the arrestee’s apprehension does not cause your jurisdiction to submit Multiple Arrestee 
Segments for previously reported Incidents, then the entry should be N = Not Applicable. 
     Example:  After a suspect’s apprehension for robbery, it was determined that he was not 
involved in any other cases within your jurisdiction.  
     
     This information will allow for us to identify that one arrestee clears multiple incidents,  but is 
only counted once.   
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